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Question Number : 1 Question Id : 99836741243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& series is giverl with one term missing. Select the correct alternative from the given ones that will complete the
Series.

JE11,L%13, NZ15, 7, RH13
Options:

1. ¥ PD17

2. % QD18

I OCle

4 % PC17

Question Number : 1 Question Id : 99836741243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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JE11,L%13 MZ15, 7, RH13
Options:

1. ¥ PD17

2. % QD18

2% OCle

4 % PC17

Question Number : 2 Question Id : 99836741244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the
series.

PRAT, ULHC, ZFOL, EZV, 7
Options:

1. % KTDD

2 ¥ JTCD

2. % JTDE

4 % LTCD

Question Number : 2 Question Id : 99836741244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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FRAT, ULHC, ZFOL, EZV1, 7
Options:

1. % KTDD

2. ¥ JTCD

= % JTDE

4 % LTCD

Question Number : 3 Question Id : 99836741245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd letter fletters from the given alternatives.
Options:

1. % FIL

2. % RUX

3. ¥ LPS

4 % TWZ

Question Number : 3 Question Id : 99836741245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt v # fay My Rt # & Buw e sart @ g
Options:

1. % FIL

2. % RUX

3. ¥ LFS

4 ® TWZ

Question Number : 4 Question Id : 99836741246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related words from the given alternatives.

Eat : Cricket ;- Ball . ?
Options:

1. % Chess

2. % Skating

2. ¥ Football

4. Syimrming

Question Number : 4 Question Id : 99836741246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % gged




2. ® mpET

3. ¢ peard
4 % Fyrdhr

Question Number : 5 Question Id : 99836741247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOWiﬂg question, select the related letter pair from the Ziven alternatives.

GRA MM Y
Options:

1. % FRO : UMM
= W MIG : SDO
2. % LAT :RUB

4 % RUE: ¥QJ

Question Number : 5 Question Id : 99836741247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FRO : UMN
2 ¥ MIG : SDO
2. % LAT . RUE

4 % RUE: ¥QJ

Question Number : 6 Question Id : 99836741248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ini a certain code language, 'Hobin 15 s1oart” 15 written as 7 6 47, People are intelligent” 1s written as '8 2 17,
‘Srart are good’ 15 writtenn

as ‘6 9 8 What can be the code for ‘is’ in that code language?

Options:

1.¥ 4

2. %9
3% B
4 ® 2

Question Number : 6 Question Id : 99836741248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Tafe #E 9T # ‘Robin is smart’ #1°7 6 4 TRET9ET 8, ‘People are intelligent’ ®1°8 2 1° WET F@T 8, ‘Smart are
good’ W6 9 & THETAET B 30 TS AT H ‘i’ & FIS 471 5T TFdT 27

Options:

1.9 4

o % g

3. % 3



4 ® 2

Question Number : 7 Question Id : 99836741249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six bows J, K, L, M, M and P are sitting around a circular table facing towards the centre. ] is second to the left
of P. I is the irmrmediate neighbour of P and ] K is second to the right of M. L is to the immediate to left of M.
who is third to the left of IN7?

Options:
1.% M
2. ¥ L
. wP
4 % K

Question Number : 7 Question Id : 99836741249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % M

2. % L

3 ®p

4. % K

Question Number : 8 Question Id : 99836741250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six persons G, H, B, T, Uand V like any one car among <1, C2, C3, C4, CE5 and C&. MNone of thern likes same
car. T likes C2. ¥V and G don't like C1 and C2. B likes either C6 or C2. H don't like CE. 1 likes either 2 o1 C6,
which of the following pair can represent the cars of Uand WV respectively?

Options:

1. ¥ C2, C5
2 % B, Cl1
2% 1, C5
4 % Z3, C4

Question Number : 8 Question Id : 99836741250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ 2, C5
2. % ZE,C1
3% 21, C5
4, % Z3,C4

Question Number : 9 Question Id : 99836741251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Height of 8 boys E1, B2, EZ, B4, BS, E6, BY and EE are compared. Height of EZ will be least or maximurm.
Height of B4 is more than E&. Height of E& is less than only = boys. Height of E2 is more than B1 but less than
E8. Height of E2 is less than E3. If the height of B4 is less than E1, then which of the following sequence of
their heights may be correct?

Options:

1. % B3»EY = B5»BE>»E2>E4>E1>EQ

2. % B3»BY>BS>BEZ2>BEE>E1>BE4>E6

3. ¥ B3>BES = B7>BE8>B2>E1>B4>E6

4. % BE3»B-»BY »EE»BE2>Ec>E1>E4

Question Number : 9 Question Id : 99836741251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25 _ _

& =@l B, B2, B3, B4, BS, BE, B7 TUTBS 1 =18 1 g1 21 T 31 B3 w1 =g a7 91 ~ZAqH =1 SiEedd g B4 &1
T, BE ¥ arfer 31 B @1 J=e &l 3 Fsw! € #4931 B2 %1 J=E B1 & a1ew =g B3 ¥ %7 31 B2 %1 = B3 S @A 31
e B4 #1 3AE BE1 A ®A 2, 97 3101 STed] & Haie g # & 1 97 %0 951 27

Options:

1. # E3»E7 = E5»E8>E2>E4>E1>E6

= % BE3»B7>B5rB2>EE8>B1>B4>E6

3. ¥ BE3>ES = EF »E8>E2>E1>B4>E6

4 % BE3»>B-ErB7>EE-EZ>E6>E1>E4

Question Number : 10 Question Id : 99836741252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questicon below are giverl some statermnents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Staternents:
[ All pink are blue.
II. Some blue are red.

Conclusions:
[. Some red are pink.
II. Mo red is blue.

Options:

1. # Only conclusion I follows

2. % Only conclusion I follows

2. % EBoth conclusion I and I follows

4. % MNeither conclusion [ and I follows

Question Number : 10 Question Id : 99836741252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. % et Tmepy I SIeo #7aT &
2 % e Toead 11 SIe FaT g
3. % gl Tmey | J9TI SgE 3T B
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Question Number : 11 Question Id : 99836741253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Staterments:

[. Some & are E.
II. Some M are K.
[II. Mo Mis I

Conclusions:

[. Some J are rot M.
II. Sorme Mare &
I Mo K is A,

Options:

1. ®* EBoth conclusion [ and II follows
2. % Only conclusion I follows

2. % Both conclusion I and III follows

4. % Deither conclusion I, II and 11T follows

Question Number : 11 Question Id : 99836741253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gt fermepd [ q27 11 SIe @i &

2. e T 1 SrgeR FaT

3. % AT w1 T Sre ad g

4 % T TAmEy 1, 11 F2ATII SIge FaT 5

Question Number : 12 Question Id : 99836741254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 the following question, select the related nurmber from the gZiven alternatives.

12:140 297
Options:

1. % 957

> % 345

3. ¥ 837

4. % 339

Question Number : 12 Question Id : 99836741254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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12: 140297
Options:

1. % 957

2 % 345

3. ¥ 837

4 % 339

Question Number : 13 Question Id : 99836741255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& series is given with one term wrong. Select that wrong term from the given alternatives.

65, 32, 102, 136, 235, 274
Options:

1.9 32

2. % 10z

3. % 6B

4. ® 238

Question Number : 13 Question Id : 99836741255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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&8, 32, 10z, 136, 238, 274
Options:
1.9 32



2. % 102
3. % 88
4. % 238

Question Number : 14 Question Id : 99836741256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagram that best represents the relationship among the given classes.

Alphabet, Word, Nurmnber
Options:

Q)e

(0o

3. v

Question Number : 14 Question Id : 99836741256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Qe
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Question Number : 15 Question Id : 99836741257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr miany plastic are table?

Plastic

Table

3

~
Chair
Options:
1. % 12
o % 15
3 % 19
4 v 15

Question Number : 15 Question Id : 99836741257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TepaiT veTie e Het £7

Options:
1. % 12

> % 15
z %1y



4. ¥ 16

Question Number : 16 Question Id : 99836741258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Foint R is 10 ki to the south of point J. Point R is 14 km to the east of point S, Point S is 12 km to the north of
point K. Foint P is 7 kum to the east of point K. In which direction is point P from point J?

Options:

1. % South east
2. ¥ South west
2. % INorth east

4. % MNorth west

Question Number : 16 Question Id : 99836741258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cgrrectl\(larks: 1 Wrong Marks: 0.25 . . . . .
%Eﬁ%ﬁé%ﬁgﬁ%m@giﬁgj %ﬁr ;5;%;1 Tt i Fr e d g s, Sk & 12 fedt swedr e Wy P,
Options:

1. % gigor o

2. ¥ gigor gk

3 % g

4. % T OEm

Question Number : 17 Question Id : 99836741259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Minute hand of a clock is firstly rotated by 194* in clockwise direction. Ther, it is rotated by 2627 in
anticlockwise directionl. MNow, it is rotated by 242° in anticlockwise direction. It is finally rotated by 127 in
clockwise direction. Now, minute hand is facing towards south direction. In which direction it was facing
initially?

Options:

1. % South east

2. % MNorth west

= % DNorth east

4. % South west

Question Number : 17 Question Id : 99836741259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e w2l A T & g T gfmad fqar # 194 gar v 2 T, 29 Gt fGur § 26.3° YT WAT 21 A5 5 amTad gdr i
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Options:

1. % iy o
o, o T utEm
3 % g
4. % ZiET O

Question Number : 18 Question Id : 99836741260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

ik
%

3 v

Question Number : 18 Question Id : 99836741260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 19 Question Id : 99836741261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure is hiddern fembedded.

2

Options:

A

Question Number : 19 Question Id : 99836741261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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2

Options:

Question Number : 20 Question Id : 99836741262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev folding the given paper, which of the following cube can be made?

L
M| K
T|9
7
D >
P @ &
I II I
Options:
1. % Only 1

2 % Both [ and III
= ¥ Only 111
4 % Both I and III



Question Number : 20 Question Id : 99836741262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T My W W Hied W, e T # € @ 97 O e o gwar 57

L
M| K
T|9
7
5§
I II I
Options:
1. % el
2. % [ gorlll =4t
A B

4 % 11 9T FHT
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Group Minimum Duration : 0
Revisit allowed for view? : No
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Minimum Instruction Time: 0
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Sub-Section Id: 9983672125
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836741263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Chapchar Kut, Mirm Kat and ThEllelVElﬂg Eut festivals are celebrated in which Indian state?

Options:

1. % Sikkim

= % Meghalava
2. * Manipur

4 % Mizoram

Question Number : 21 Question Id : 99836741263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AR e, BT F& 3 cAThaT o calgR] @1 e RE 1 T § A= 14T 57
Options:

1. % &g

2 % mEmEg

3 % g
4, & TEARH

Question Number : 22 Question Id : 99836741264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
hoormar 15 the regional dance form of which Indian state?

Options:

1. % Rajasthan

2. % Harvana

3. # Punjab

4. % Uttar Pradesh

Question Number : 22 Question Id : 99836741264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT Tore I 1 T T &1 I 27
Options:

1. & T

2. % gl
3 ® O
4 ® FTuda

Question Number : 23 Question Id : 99836741265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Who with the help of state SOVETTITIENT afencies, procures wheat, paddy and Coarse grains in various states in
order to provide price support to the farmers?

Options:

1. ® MNAFED



2. = MNABARD
2. % Food Corporation of India (FCI)
4 % FSSAT

Question Number : 23 Question Id : 99836741265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % qhE

2 % qEE

3. ¥ AR @ T (RO

4 ® UEUEUET AT

Question Number : 24 Question Id : 99836741266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements regarding external debt of the government of India is correct?

I. The Union Government does not borrow directly from international capital markets,

II. Governments foreign currency borrowing takes place from multilateral agencies and bilateral sources, and
is a part of official developrment assistance (&),

III. At present, the Government of India borrow from the international capital markets.

Options:

1. ¥ landll

2. % [landIIl
2. % JandIIl
4 % [ IIandIII

Question Number : 24 Question Id : 99836741266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 1 q47Ill

2. % Il qarlll
3. % [ F9rlll
4 % [ 11 F9rlll

Question Number : 25 Question Id : 99836741267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The defect of vision in human beings in which the power of accommodation of the eye decreases with ageing
and the near point gradually receds away 15 kiowr as

Options:
1. #* Myopia



2. % Hypermetropia
3. ¥ Presbyopia
4. % Cataract

Question Number : 25 Question Id : 99836741267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % fEe-gidw
2. % Snf-gie

3. ¥ S-gE e

4 % gifgartds

Question Number : 26 Question Id : 99836741268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fines and Cycas belong to ______.
Options:

1. ® Thallophvta

2. % Bryophyta

I % Angiosperrr

4. 9 Gymnosper

Question Number : 26 Question Id : 99836741268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g4 TAT TEHT ______ I &1
Options:

1. % damprEer

2. % TR

3. % ghard

4 Fogremi

Question Number : 27 Question Id : 99836741269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterment(s) regarding use of bleaching powder isfare correct?

I Itis used as an oxidising agent in chermical industries,
I1. It is used for disinfecting drinking water to make it free of germs.

Options:

1. % Cnly I

2 % COnly 11

3. ¥ Both 1 and II

4 % MNeither I nor 11



Question Number : 27 Question Id : 99836741269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TA T UTSE o JUT o Herel O Tiioiiaa o & &9 a1/ & T2 951 8/ 87

1. T FE H U ST & 0 H T W g7 ol
I1. i+ aTer et T SAtamper & g% #e- @ o T o &0 § far ST 2l

Options:

1. % Al

2 % FaAll

3. ¥ ] eIl 3E!
4. % ATET] ATEIII

Question Number : 28 Question Id : 99836741270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ealaghat mines in Madhya Pradesh, Khetri mines in Rajasthan and Singhbhum district of Jharkhand are
leading producers of

Options:

1. % Iron

2. % Bauxite

2. % Manganese

4. ¥ Copper

Question Number : 28 Question Id : 99836741270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Heaw T H aTATeTe &1 W, Teee § GaaT & @ T SnEs & Egge M ______ & I JoUTa
Options:

1. % @

2. % glegdrEe

3. % e

4« g

Question Number : 29 Question Id : 99836741271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Indravati river is a tributary of

Options:
1. # Krishna river

2. % Ganga river
2. ¥ Godawvari river

4. % Cauvery river

Question Number : 29 Question Id : 99836741271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
EAECLG AR T IO 81

Options:
1. % gpuor T



2. % T aEr
3. & TMigEe AT
4. % g aET

Question Number : 30 Question Id : 99836741272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eed and Yellow 50ils develop a reddish colour due to diffusion of

Options:

1. # Copper
=2 % Zinc

2. ¥ [ron

4. % Manganese

in crystalline and metarmorphic rocks.

Question Number : 30 Question Id : 99836741272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT FT et ST & WA & TR0T 9T T d el g1 | 16 O Soug Feal g
Options:

1. % g

o ® fHw

3 ¥ AR

4 & B

Question Number : 31 Question Id : 99836741273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which social reformer arguer:i that untouchahles were the true uphOldEI‘S of an original Tarmil and Dravidian
Culture?

Options:

1. ® Dr. BR. Ambedkar

= % EV. Rarnasarmy MNaicker
2. # Jyotirac Phule

4. % Ghasidas

Question Number : 31 Question Id : 99836741273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AT e - do 14T T 5t T ST gie Gegid & SIEHT aTgd SIgd Bl g7
Options:

1. % 2T &l o efdeaT

2 & T d1 THWETHT e
3 ® ST e
4 % grdignT

Question Number : 32 Question Id : 99836741274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
During the reign of Samudragupta, Sandhi-vigrahika meant



Options:

1. ¥ Chief Judicial officer

2 % Chief Banker

2. ¥ Minister of war and peace

4. % Leader of merchant caravarns

Question Number : 32 Question Id : 99836741274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T & T & 2, arf-Emgw e anf ______ i
Options:

1. % gee = e

2 % gET

Z. ¥ g T ATET T AT

4. % it 3 A T AT

Question Number : 33 Question Id : 99836741275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rulers of which of the following dynasty were known as Lords of the Dakshinapatha?

Options:

1. % Satavahanas
Z % Cheras

3. % Cholas

4. % Pandvas

Question Number : 33 Question Id : 99836741275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafaiET # & Ty 99 % aTaw! B ST % ST 3 1 F S ST 4T
Options:

1. ¢ grgamgT

o %oy

3. % T

4 % gz

Question Number : 34 Question Id : 99836741276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Scientists of which university have dewveloped a new material called ‘black gold’ which can absorb light and
carbon dioxide?

Options:

1. % 1ISC Bangalore

2. % Tata Institute of Fundarmental Research (TIFR)
3. % 1T Madras

4. % [IT Kharaghpur

Question Number : 34 Question Id : 99836741276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
ToreT TaearTaenTes & ST o 'eote Tes’ ATAE U e STHNT [eerad & & F1 Wt o ®le- STeTrdIss @1 e iua &y ad
a7

Options:

1. % SEamiueeE! e

2 ¥ T EEISE STk S THEH el (ETeeUhar)
3. % agemgll A

4. ¥ ATETELT FETOY

Question Number : 35 Question Id : 99836741277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The bool: Tew Delhi Conspiracy’ 15 written by ______
Options:

1. ¥ Meenakshi Lekhi

= % Armish Tripathi

3. ® Ramchandra Guha

4. % Pranab Mukherjes

Question Number : 35 Question Id : 99836741277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“TE Tl BeuT JEae ______ ET TATET )
Options:

1. & TiATaT wredr

2 % ariter EOmst

3. ® TEg IET

4 % T T

Question Number : 36 Question Id : 99836741278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who was awarded United MNation's Equator Prize for 2019 for their outstanding effort for nature-based
solution to climate change and sustainable developrent?

Options:

1. % Deccan Development Society ([DDS)
Z % vasudha Foundation

3. ® MNational wildlife Federation

4. % Modi Foundation

Question Number : 36 Question Id : 99836741278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT Ui T S Tad [dwra o W Ugpia - e QAT & 3% Jofe U9 & o 2019 & W0 9% UF & YEed-Tear J
et T T T

Options:

1. 2g Saamiz Femget (£ ST
2. % gguT I

3. ® TP geoee HEEY



4. ® g wraged

Question Number : 37 Question Id : 99836741279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The President can remove the chairmen of Union Public Service Corrumission from the office under which of
the following Circumstances?

[. If he is adjudged an insclvent.
II. If he engages, during his term of office, in any paid employment outside the duties of his office.

Options:

1. % Cnlyl

2 ® only I

3. ¥ Both [ and 11
4. % Neither I nor I

Question Number : 37 Question Id : 99836741279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl S A1 el ST & areTyl @ Faiead § & o aieeris | go1 a1 27
1. R 39 Taanierm giftg a0 Tz 9T

I1. ST OTaTer o SN S0 U & @ wd1 & a5t [l & ade T § @A §h
Options:

1. % ]

2 % Fadll

3 V] AW Eet

4. % FUEr] ATEIII

Question Number : 38 Question Id : 99836741280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following constitutional provision has not been borrowed from Irish constitution by Indian
Constitution?

Options:

1. % Post of Vice-President

2. % Method of election of President

2. # Nomination of members to Eajya Sabha

4. % Directive principles of state policy

Question Number : 38 Question Id : 99836741280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

STTCAT HTErT & P |7 HalT e WTererT= W 127 A= g7 W T81 oy T 27
Options:

1. & JU-TTegia @ ug

= % el &t Rl ugld

3. % T 9T o 0 Aeeal @ A

4. R v o A - e



Question Number : 39 Question Id : 99836741281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Yijay Hazare Trophy is associated with which of the following sport?

Options:

1. % Hockey

2. ® Kabbadi
3. ¥ Cricket

4. % Foothall

Question Number : 39 Question Id : 99836741281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty gorie 7T Pt # & fre @ 4 datig 2

Options:

1. % ZThr
2 % wagl
3. ¥ T
4, ® GIdtd

Question Number : 40 Question Id : 99836741282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which courntry worn Copa Armnerica 201497

Options:
1. ® Peru

2 % EBrazil
=, % Chile
4. % IS4

Question Number : 40 Question Id : 99836741282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e S 7 T amfeawT 2019 SaT?

Options:

1. % o&

2 ¥ g

2 % R

4, % T e s

Arithmetic Ability

Group Number : 3

Group Id: 9983671313
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0



Group Marks: 20

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrnetic Ability

Section Id : 9983671712

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672126
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836741283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 8714 is divisible by 8, then what is the value of N7

Options:
1.9 4
2. %2
3% 5
4 % 5

Question Number : 41 Question Id : 99836741283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I 87N 4, & § ST 5, TN &1 /- F4T 57

Options:
1.9 4
2. % 2
2% B
4 % g

Question Number : 42 Question Id : 99836741284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr many two digit nurrbers are there which are not divisible by 57

Options:
1.9 72

2. % 70
3% 75



4. % B3

Question Number : 42 Question Id : 99836741284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

21 afep! T T Tt gead &, S S & e gl 57
Options:

1.¥ 72

= % 70

3. % 75

4 % g8

Question Number : 43 Question Id : 99836741285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

: . S
What is the value of [32 x512] +[_J ~
\ ! 16 '

Options:
1. % 4
2. %3
3. % 1/8
4 ¥ 1[4

Question Number : 43 Question Id : 99836741285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T U
[ts ><512._] ﬂﬁ T AT a1 272

Options:
1.% 4
= % B
3% 1/8
4. % 1/4

Question Number : 44 Question Id : 99836741286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

5+6—Tx2+-5+8-10 B+5—-—2x34+8+3
; and B = =

If A=

, then what is the value of A + B?

Options:
1. ¥ 8
2 ® g
3. ¥ 9



4. % 10

Question Number : 44 Question Id : 99836741286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

56— TX2= 54 B+ 8+5—2x3+8+3
afE A = 67)‘*23 8710 qorp-= : . dr A+ B & AT F4T 272

Options:
1. %38
2 %5
3. ¥ 9
4 % 10

Question Number : 45 Question Id : 99836741287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which cne ameong /12 + /3, 11 + 2, /5 + W/10and 1 + /14 is the largest?

Options:

1. % J12 + /3
2% 11+ 2
3. ¢ 5 +4/10
4 #1414

Question Number : 45 Question Id : 99836741287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
V12 4+ 43, 411 + 2, 45 + 10T 1 + /14 # & F9 T qae 921 27

Options:

1. % J12 4+ 3
2 ® 11 +2
3. v 5+ 10
4 % 1+./14

Question Number : 46 Question Id : 99836741288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what will be the average of first 14 positive odd nurmnbers?

Options:
1.9 14
= % 18
3. % 18
4. % 15

Question Number : 46 Question Id : 99836741288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETH 14 #FTeA® Tem st @7 afteg 7= g




Options:
1.9 14
2. % 16
2% 18
4 % 15

Question Number : 47 Question Id : 99836741289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& man has Bs 240 in coins of 1-rupee, 2-rupees and S-rupees. The number of coins of each denomination is
aqual. What is the total number of coins he has?

Options:
1. % 20
2. % B0
2% 90
4. % 120

Question Number : 47 Question Id : 99836741289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e STIGHT & U 1 -0, 2-F0 8l S—2u2l o fog &1 e get 240 20 B Saf ueds qea & TEgT & H%0T sl 31 39
T e T g 2

Options:
1. % 20
2. % B0
2% 90
4 % 120

Question Number : 48 Question Id : 99836741290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

15% of the total votes are declared invalid votes. Three candidates F, & and R contested the elaction. P, © and B
received 45% 30% and 25% votes respectively of the total valid votes. If total number of votes are 1600, then B
received how rmuch votes less than Fr

Options:

1. % 292
2. % 168
3% 192

4 & 272

Question Number : 48 Question Id : 99836741290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl AA1 & 15 UiAad BT S0 A9 9189 @ 757 72m o9 SHiEaR P, Q@ TR 5 gA1d @20 P, Q T9T R Fcl AW a1 & FAT
A5 Ui s, 30 Ui 797 25 Wided 0 wie & i 0t &1 Fe @41 1600 g, TR F P & fa 7q @ umg e

Options:
1. % Z2az
2 % 168

3% 192



4 & 272

Question Number : 49 Question Id : 99836741291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Raman calculates profit/loss on selling price. Rajat calculates profit/loss on cost price. Raman suffered a loss
of 16.66% on selling an article. Rajat earned a profit of 50% on selling an article. Selling price of both the
articles is Ks 1200, Cost price of Raman's is what percentage of cost price of Rajat’'s article?

Options:

1. % 225 percent
2. % 150 percent
2. % 275 percernt
4. % 175 percent

Question Number : 49 Question Id : 99836741291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T BT T el O Uikehioid e g1 Tod o1 BT el Herdl ¥ UiXeh ioid e[ 5] ok e i shail 0¥ TH %1 16.66
WA 1 511 551 T 1 U a6 1 il T 50 A9 o1 @ gai el aeq @1 foed fea 1200 B0 51 TH @1 aeg 1 %4
U, T o o o e Hpd @ (ka1 Hia 2 57

Options:

1. % 2o aidem
2. % 150 ofdaT
3. % 275 Oidad
4, ¥ 175 OfdaaT

Question Number : 50 Question Id : 99836741292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sum of the present ages of a father and his son is 110 years. & years ago their respective ages were in the
ratio of 2 7. After 20 years what will be the ratio of ages of father and son?

Options:
1.%2:1
2. ¥ 19:11
=% 11:5
4 % 3.2

Question Number : 50 Question Id : 99836741292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e AT T S U Sl Fd AT ST T AT 110 59 81 5 oY el Ikl S FHE 3 0 7 % arjund & 4 20 o s T aor g
T ST T STUTT T BITTT?

Options:

1. %21

2 ¥ 19:11

3 % 11:5

4 ® 3:2

Question Number : 51 Question Id : 99836741293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Fahul and Raman started a business by investing Rs 9,000 and Rs §,000 respectively. After 4 months, Rahul
left the business and Mohan joined the business by investing Ks 15,000, At the end of the year, there was a
profit of Rs 57,000, What will be the share of Mohan in the profit?

Options:

1. % Rs 22000
2. % Rs 44000
3. ¥ Rs 30000

4. % Hs 38000

Question Number : 51 Question Id : 99836741293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TLT TH = FHA: 9,000 T TUT 6,000 B0 T4 Foely Teb SATATE 7 T2 4 7y = Wt WMol sATqIE SISt el 7T a2
HET 15, Doﬂmﬁﬁﬁmmﬁﬂgm o o S H 57,000 B0 T #T o FTH H HIg T ear 41 g

Options:
1. % 32000 70

> ® 44000 w0
2. ¥ 20000 T4
4 ® 35000 w0

Question Number : 52 Question Id : 99836741294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

After 9@ years, how much simple interest {in Es) will be received on a surn of Es 14000 at the rate of 14% per
annurn?

Options:

1. % 18120
2. % 19460
3. ¥ 17840

4. % 18140

Question Number : 52 Question Id : 99836741294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

9T WA, 14000 T 6 OF 118 0 14 UidaT & It of & Trar AT s (F0d H) W 5
Options:

1. % 18120

2. % 19460

3.9 17640

4 % 18140

Question Number : 53 Question Id : 99836741295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A man travelled a certain distance by train at the rate of 30 kmfhr and walked back at the rate of 2 kmjfhr. If
the whole journey took 22 hours, then what was the total distance covered by men?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:



1. 80 lkm
2 100 kan
3. 50k
4. 70 kan

Question Number : 53 Question Id : 99836741295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 0ET 30 Tob AT, TeT ol TG & T SITell (oIS T ST Uk Sel o e § GO agl gl anaet # e 3 T ait. jeieT 1 i & ge
TG T4 AT 51 Al QT AT H 22 O T g, 91 G GRT a9 o TS Fef gel dar 2T

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. 60 Tt

2 100 fadr

3. 50 T At

4 70 fFdr

Question Number : 54 Question Id : 99836741296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Diameter of wheel of a cycle is 21 o The cvclist takes 150 minutes to reach a destination at a speed of 726
krmjhr, Howe many revolutions will the wheel malke during the journey?

Options:

1. ¥ 275000
2. % 270000
2% 270500
4 % 250700

Question Number : 54 Question Id : 99836741296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ek |TS (e o Uigdl T ea1e 21 §.AT g1 Wigiche =lerer 72,6 T afl. [ OeT & T1id & 0ok el ®4 o Ugoe o @y 150 To=e war
21 AT & T Ui Terd= g AT

Options:

1. % 275000
2. % 270000
2% 270500
4. % 250700

Question Number : 55 Question Id : 99836741297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

S men can complete a work in 40 days and 6 worren can Ccornplete the same work in 20 days. I how many
days 20 men and 18 wormen can cormplete the same work?

Options:

1. ¥ S days
2. % 10days
3. % 15 days
4 % 12 days



Question Number : 55 Question Id : 99836741297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S &Y UF w1 w1 40 T 8 00 w0 a9d § 397 6 uigend aue w5 @ 30 T § @ # awd 1 8 20 TEY 797 18 AigAn a6
CICEARETEACC R (T E T

Options:

1. ¥ 5h=a
o % 10feT
3 % 15fT
4 % 12fT

Question Number : 56 Question Id : 99836741298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A rectangle is formed by using a wire. Length and breadth of rectangle are in the ratio 4 : 3

and its area is 3888 cm? . If the same wire is bent in the form of a semicircle, then what will

be the area of semicircle?

Options:

F17 2
| % 2123 cm

o o 3773 cm-

3431 cm?
3 ®

L% 3351 cm-

Question Number : 56 Question Id : 99836741298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AR F FART Feh Tk AT FATAT T g1 HAT I oFaTs I =155 4 : 3 & 3799 H ¢ a2 sqer
SFe 3888 WAL B TG WA IR F HUgeq F HHR F AST AQ, O Fged F ST FAT g

Options:

2123 W.HT2

1 %

, v 3773 .72

3431 §.AT2



3351 W.HT2

4 ®

Question Number : 57 Question Id : 99836741299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two sides of a plot are 24 metre and 10 metre and the angle betweern them there is pEI‘fECt right angle. The

other two sides of plot are 15 metre each and the other three ElﬂglES are not right angles. What is the area of
the plot?

Options:

, (160 + 2477) m?
1

(180 + 28+3) m?

2

(120 + 26+14) m?
o

(150 + 34+/7) m?
4 #

Question Number : 57 Question Id : 99836741299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

(160 + 24~7) Hr2

(180 + 28V3) HT.2

(120 + 26V14) #Y.2
3

(150 + 34~7) HY 2

Question Number : 58 Question Id : 99836741300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of factory outlets opened in different cities of a company.

City Number of
factory outlets

C1 40

Cz2 56

C3 66

C4 72

&5 76

Cé 85

The difference in number of factory outlets in cities C1 and C5 is what percentage of the number of
factory outlets in city C6?

Options:

1. % 42 35 percent

2. % 48 35 percent

3. % 50.35 percent

4. % 54 35 percent

Question Number : 58 Question Id : 99836741300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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C1 40
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C3 66

c4 72
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C6 85
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Options:

1.9 42 35 uideT
2. % 4635 nidem
3. % 5035 udeaT
4, % 54 35 0T

Question Number : 59 Question Id : 99836741301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of watches repaired by a mechanic on different days of a week.

40
35
30
25
20 18
15
10

T —
3

Number of watches

2 LA
| T TN
1

= = =l = = by

DI D2 D3 D4 D5 D6

Days

If E represents the total number of watches repaired on day D3 and D5 and F represents the total number
of watches repaired on D1 and D4, then E is what percentage of F?

Options:

1. % 122 91 percent
2. % 132 91 percent
3. % 142 91 percent
4, % 152 91 percent

Question Number : 59 Question Id : 99836741301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 122 91 uidad

o ® 13291 uided

3. % 142 91 widad

4 % 152 91 Uidad

Question Number : 60 Question Id : 99836741302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the number of students enrolled for an examination in

five years.

7000 -
6000 -
5000 -+
4000 -+
3000 -
2000 -
1000 -

6000

3000

Number of students

Y1 Y2 Y3 Y4 Y5
Year

What is the ratio of total number of students enrolled in year Y1 and Y3 to the total

number of students enrolled in all years?

Options:
1. % 11136

o 36111
3 % 928
4 ® 25-9

Question Number : 60 Question Id : 99836741302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 11138

2 ¥ 36111

3. % 928

4 ¥ 289
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Question Number : 61 Question Id : 99836741303 Question Type: MCQ Option Shuffling: Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose ™o error’.

This riews 15 (1)) too Z2ood (2)) to be true (31 No error (4)
Options:

1. ® This news is

2. % too good

2% to be true

4. % Mo error

Question Number : 61 Question Id : 99836741303 Question Type: MCQ Option Shuffling: Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

This news is (1)) too good (2)) to be true (21 No error (4)
Options:
1. % This news is

2. % too good



3. % tobe trus
4 % Mo error

Question Number : 62 Question Id : 99836741304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘MNo error’.

The editor (1)} gave him the deadline (2)f for finish the work (3)] No error (4)
Options:

1. * The editor

2. % gave him the deadline

2. ¥ for finish the work

4. % Do error

Question Number : 62 Question Id : 99836741304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

The editor (1)] gave him the deadline (2)/ for finish the work (3)/ No error (4)
Options:

1. ® The editor

2. % gave him the deadline

2. ¥ for finish the work

4. % DMNoerror

Question Number : 63 Question Id : 99836741305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rmprove the bracketed part of the sentence. If there is No improvernent, choose 'MNo irmprovernent’

The lady (died) before she reached the hospital?
Options:

1. % die

2. ¥ had died

2. % dving

4 % IMNoimprovernent

Question Number : 63 Question Id : 99836741305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence. If there is No improvement, choose 'MNo improvernent'.

The lady (died) before she reached the hospital?
Options:

1. #* die

2. % had disd

2 % dying

4. % MNoimprovernent



Question Number : 64 Question Id : 99836741306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence. If there is No improvement, choose 'MNo improvernent'.

This property belongs o (fansals)
Options:

1. * Kansal

2. % Kansals’

2 % Kansal's

4.9 Mo improvernernt

Question Number : 64 Question Id : 99836741306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence. If there is No improvement, choose 'MNo improvernent'.

This property belongs to (Kansals).
Options:

1. * Kansal

2. % Kansals’

2 % Kansal's

4. ¥ No improvermnernt

Question Number : 65 Question Id : 99836741307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

The origin of ice-cream dates back
Options:

1. % into

2 ¥ 1o

3 ® at

4 # from

nearly half-a-century.

Question Number : 65 Question Id : 99836741307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The crigin of ice-cream dates back nearly half-a-century.

Options:
1. * into
2 ¥ 1o
3% at

4. % from

Question Number : 66 Question Id : 99836741308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

She ______ her portrait in the main hall.
Options:

1. * hang

2. % hanged

2. ¥ hung

4. % had hunged

Question Number : 66 Question Id : 99836741308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She ______ her portrait in the rmain hall.
Options:

1. * hang

2. % hanged

2. ¥ hung

4. % had hunged

Question Number : 67 Question Id : 99836741309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fearrange the parts of the sentence in correct order.

F: Thereisa

Q) type of chess
E: with short

S0 time lirmits
Options:

1. % SROF

2. % SCQRF

3 % REQF

4. % PORS

Question Number : 67 Question Id : 99836741309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fearrange the parts of the sentence in correct order.

F: Thereisa

Q) type of chess
E: with short

S0 time lirmits
Options:

1. % SROF

Z. % SCRF

3. % RSOF

4. % PQRS



Question Number : 68 Question Id : 99836741310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

F: shortage of a

) are facing

E: natural fodder
2. sunderban tigers

Options:

1. % PQRES
2 ¥ SOFR
2. % SQRF
4 % OSREP

Question Number : 68 Question Id : 99836741310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

P: shortage of a

Q) are facing

R: natural fodder
5: sunderban tigers

Options:

1. % PORS
2 ¥ SOFR
2. % SQRF
4 % OSREP

Question Number : 69 Question Id : 99836741311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the given word.

Apathy
Options:

1. % Yell

2. % Disgust
2% Apex

4. ¥ Lethargy

Question Number : 69 Question Id : 99836741311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Apathy
Options:

1. % Yell

2. % Disgust



3. % Apex
4 ¥ Lethargy

Question Number : 70 Question Id : 99836741312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Forgo

Options:

1. # Beautiful
=2 ¥ Avoid

3. % Wane

4. % Rise

Question Number : 70 Question Id : 99836741312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Forgo

Options:

1. ¥ Beautiful
= 9 Awvoid

3. % Wane

4 % Rise

Question Number : 71 Question Id : 99836741313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Arguement
2. ® Argewrnent
2. ¥ Argument

4. # Arouernant

Question Number : 71 Question Id : 99836741313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. ¥ Arguerment
= Argewrnent
2. ¥ Argument

4. % Arguermnant



Question Number : 72 Question Id : 99836741314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. ¥ Conscience
2. % Existance
Z. % Feiry

4. # Hieght

Question Number : 72 Question Id : 99836741314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
wiord.

Options:

1. % Conscience
= % Existance
3. # Feiry

4. % Hieght

Question Number : 73 Question Id : 99836741315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom /Phrase.

Apple of someone’s eye

Options:

1. ¥ Someone loved very much
2 ® A poor plan

2. #® Animportant day

4 % In disorder

Question Number : 73 Question Id : 99836741315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Apple of someone’s eye

Options:

1. % Somecne loved very much
= % A poor plan

3. % Animportant day

4. % In disorder

Question Number : 74 Question Id : 99836741316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

EBurn the midnight oil

Options:

1. # Reduce the power of something
2. % Toearn money to live

2. ¥ To study till late of night

4. ® To keep quite

Question Number : 74 Question Id : 99836741316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Burn the midnight oil

Options:

1. ® Reduce the power of something
= % Toearn money to live

2. % Tostudy till late of night

4. % Tokeep quite

Question Number : 75 Question Id : 99836741317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given senterice.

who behaves without moral principles?
Options:

1. ¥ Irmmoral

2. % Lunatic

2. % Stoic

4. # Polyglot

Question Number : 75 Question Id : 99836741317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
hoose the word that can substitute the given sentence.

Who behawes without moral principles?
Options:

1. % Immoral

2. % Lunatic

3. % Stoic

4. % Polyglot

Sub-Section Number: 2
Sub-Section 1d: 9983672128



Question Shuffling Allowed : Yes

Question Id : 99836741318 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Eead the following information carefully and answer the given questions.

By the mid 19th century, mass production of paper patterns, the emergence of the home sewing machine and
the convenience of mail order catalogues brought fashionable clothing into the American home. By the early
20th century, home econommists working in extension and outreach prograrmunes taught wornen how to use
paper patterns to improve the fit and efficiency of new garments as well as how to update the existing ones.
Teachers of home econormics traditionally made home sewing a critical part of their curriculurr, emphasising
self sufficiency and resourcefulness for young women. However, with the increasing availability of mass
produced clothing in catalogues and department stores, more and more wormen preferred buying garments to
making thern. As a result, home economists shifted their attention to consumer education. Through field
study, analysis and research, they became experts on the purchase and preservation of ready to wear clothing
for the family, offering budgeting instruction targeted at adolescent girls. Modern horme sewing made it
possible for American wormen to transcend their econormic differences and geographic locations with clothing
that increasingly standardised. The democratisation of fashion continued through the 20th century as the
ready-to-wear market expanded and home sewing became more of a pastime than necessity.

Sub questions

Question Number : 76 Question Id : 99836741319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is true with reference to democratisation?

Options:

1. % Altering or modifying in a beneficial way.

2. ® Transitioning to a more dermocratic political regime.
2. % Gradually becoming acceptable for an entire nation.

4. % Becorring widely available to 8 populace.

Question Number : 77 Question Id : 99836741320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the fOllOW‘iI‘lg 15 ot related to 3 decline in horne sewing?

Options:

1. # Mail order catalogues

2. % Curriculum changes in home economics Courses
2. % The availability of apparel in retail outlets

4 % Changing fashion trends

Question Number : 78 Question Id : 99836741321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage the advent of mail order catalogues altered the role of home econornists because

Options:

1. ® Home econorrists had to compete with the ready - to - wear market place

2. % Mass produced clothing rendered their jobs obsolete

2. % Their focus shifted to instruction on budgeting, buving and preserving clothing

4. # Wormnen ceased Sewing, so home econonists had to teach other subjects



Question Number : 79 Question Id : 99836741322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is the main focus of the passage?

Options:

1. ¥ Changing role of home economists as a result of charnges in the world

2. % Historical shifts in home sewing from the mid 19th century through the 20th century
2. % Modernisation of home sewing

4. # Impact of ready-to-wear and mass-produced fashion on home home sewing

Question Number : 80 Question Id : 99836741323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following means the same as efficiency?

Options:

1. # Inapility
2. % Idleness
2. ¥ adequacy

4. % [neptness

Question Id : 99836741318 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

Ev the mid 1%th century, mass production of paper patterns, the emergence of the home sewing machine and
the convenience of rmail order catalogues brought fashionable clothing into the American home. By the early
20th century, horme econornnsts working in extensicon and outreach programenes taught worren how 1o use
paper patterns to improve the fit and efficiency of new garments as well as how to update the existing ones.
Teachers of home economics traditionally made home sewing a critical part of their curriculum, emphasising
self sufficiency and resourcefulness for young women. However, with the increasing availability of mass
produced clothing in catalogues and department stores, more and more wormen preferred buying garments to
making thern. As a result, home economists shifted their attention to consumer education. Through field
study, analysis and research, they became experts on the purchase and preservation of ready to wear clothing
for the family, offering budgeting instruction targeted at adolescent girls. Modern home sewing made it
possible for American wornen to transcend their econormic differences and geographic locations with clothing
that increasingly standardised. The democratisation of fashion continued through the 20th century as the
ready-to-wear market expanded and home sewing became more of 3 pastime than necessity.

Sub questions

Question Number : 76 Question Id : 99836741319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is true with reference to democratisation?

Options:

1. % Altering or modifving in a beneficial way.

2. % Transitioning to a more dermocratic political regime.
2. % Gradually becoming acceptable for an entire nation.

4. % Becorring widely available to a populace.



Question Number : 77 Question Id : 99836741320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is not related to a decline in home sewing?
Options:

1. % Mail order catalogues

2. % Curriculum changes in home economics courses

Z. ® The availability of apparel in retail outlets

4. ¥ Changing fashion trends

Question Number : 78 Question Id : 99836741321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage the advent of mail order catalogues altered the role of home econormists because

Options:

1. ¥ Home economists had to compete with the ready - to - wear market place

2. % Mass produced clothing rendered their jobs obsolete

=, % Their focus shifted to instruction on budgeting, buving and preserving clothing

4. % women ceased sewirg, S0 horme economists had to teach other subjects

Question Number : 79 Question Id : 99836741322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is the main focus of the passage?

Options:

1. ¥ Changing role of home economists as a result of changes in the world

2. % Historical shifts in home sewing from the mid 19th century through the 20th century
3. % Modernisation of home sewing

4. ® Impact of ready-to-wear and mass-produced fashion on home home sewing

Question Number : 80 Question Id : 99836741323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following means the same as efficiency?

Options:

1. # Inability
2. % Idleness
= ¥ Adequacy

4. ® Ineptness
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Question Number : 81 Question Id : 99836741324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % amd
2. ¥ ard
3 % aed
4 % g

Question Number : 81 Question Id : 99836741324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 sreg T | AT R
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Options:

1. % amd
2. ¥ s
3. % apd
4 ® i

Question Number : 82 Question Id : 99836741325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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TAHAT
Options:

1. & T THm
o, % gz A

3. % TmremEE

4. % FogET A

Question Number : 82 Question Id : 99836741325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T STeT T R AT A

ELREToGI

Options:

1. & FHaRT wA
= ® oz |Eg

3. % THrERE

4. ® FogET gHH

Question Number : 83 Question Id : 99836741326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T ey # A A e

a5 ST TaTIT @ | T SATd T 5]
Options:

1. v oy

o ® g

3. ® g

4. % FaAwRT

Question Number : 83 Question Id : 99836741326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T arer o wE AT A e

g ST Tt o | T AT B
Options:

1. v o

2 % g

3 ® g

4 % Framr

Question Number : 84 Question Id : 99836741327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T STeg o7 TAI9dE T = @ik
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Options:
1. % qut
o %2y
3 ¥ O
4, ® 3T

Question Number : 84 Question Id : 99836741327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

w0 STeg 7 wriaaRlT S iR
BiE ]

Options:

1. % qmuy
o %2y
3. ¥ I
4. % aTEr

Question Number : 85 Question Id : 99836741328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Temr Ty e T et ST A

At
Options:

1. % amrdt
2. & TR
3. % TEET
4 8 ToEie

Question Number : 85 Question Id : 99836741328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T sreg T A A e

AT
Options:

1. % ARt
o, & Taardt
3. % et
4. % T

Question Number : 86 Question Id : 99836741329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T AT W T O aeg AT i
AT 37T 3 AT BT

Options:

1. v ucay



2% Ay
= ® it
4 ® St

Question Number : 86 Question Id : 99836741329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TS T AT 14T o 1ol i deg AT S Irad]

ST S7RET o T BT
Options:

1. moay

2 % AWy

3. % A

4. ® arATTRE

Question Number : 87 Question Id : 99836741330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey reat # & g T AT T
Options:

1. % wame

2. ¥ ey

3. % e

4. ® Ty

Question Number : 87 Question Id : 99836741330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty st # # g AT g FRm
Options:

1. % ey

2. ¥ e

3. % ey

4. % ey

Question Number : 88 Question Id : 99836741331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta Ty e H TR MR T gE & A1 e

ST T g S g4t 5ol

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 300 §&y

Z HEAH &y

. WOH 7E
4. 3 ey



Question Number : 88 Question Id : 99836741331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Temr T ey # R v T g B AT S

e AT & gt g gt g2

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. 9 Y&y

2. HeTA &Y

5. T Ey
4. 3 JEY

Question Number : 89 Question Id : 99836741332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeTT T TRt W S ST AT A
Options:

1. % 2= o THa %7 W ui=ar T

2. % Ziz o TR 9 I W oi=ar T

2 % w3 2 U vt we griee e

4, & ZI= o TR 7 I Ui=ar T

Question Number : 89 Question Id : 99836741332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr T ARt o S ST A
Options:

1. % gz o T & & Oiger T

o % FEH H J T O gi=ar T

3 % gier 3 i wiEe e gride R

4. & = H TH T ¥ Ui=dr 5T

Question Number : 90 Question Id : 99836741333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T M7 ATl # # S aed a1 @i
Options:

1. % e & T g1 A

2. % ZITE o G T AR1 AT

3. ® ZOw W IEE ZRT A1 LT A

4 Siow T A1 8

Question Number : 90 Question Id : 99836741333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

oo my et # & S g T AT d e

Options:



1. % I & T 51 S

2. % TiqE o GWT T AR1 A

% % TITe O IHE ST AR AT A
4. ¥ T g ARt 8

Question Number : 91 Question Id : 99836741334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v et F & Tivy A AT T

Options:

1. % oF qEqE Tl 87

2. % g ed® Fglp ol B O T e
3. T qed® FEl g Al el B 0 Tt i

4 % gguedw ot #El &7

Question Number : 91 Question Id : 99836741334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ter Ty amerert & Ty e ST FRm

Options:

1. % g &I Pl 87

2 % gg Ued® FEl g A e o Tt e
3. g [ed® FEl B AT el B 02 T gl

4. % g qeaw o aE g7

Question Number : 92 Question Id : 99836741335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o 0 = # IR v o B =i A d e

TTET AT Yot W nidiiaT & oy g o mar §
Options:
1.9 |

2 %1,
3'33.'.'
4 % 7

Question Number : 92 Question Id : 99836741335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T M =y # T v W Eew R e e

e ST gt ' winartiaT & o o= e mar
Options:
1.9

o %
3 %
4. % 7




Question Number : 93 Question Id : 99836741336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TeTT T geTa T S A
T TTT

Options:

1. % gargar

2. ¥ JIE TAT
= % quituEAr

4. ® TET FCAT

Question Number : 93 Question Id : 99836741336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o T geTa @ aref A

T[T T
Options:

1. % garaar

2. ¥ TG FAT
3 % it uEAr

4. % TAT AT

Question Number : 94 Question Id : 99836741337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr My fol v ST ggTe @ anf AT Fem

T T Tge 5 T8 olieed gH |

Options:

1. % o\ IHW 9 AT
= % T T T

3. ¥ ATA-Te skl T

4 ® gt dia

Question Number : 94 Question Id : 99836741337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tar My o v IR gETER @7 anf A Fm

AT H TG RITE fFT g0 ______ |
Options:

1. % wy qumw = e

2. % FI e my

3. ¥ ST sl T

4 ® FEEEa

Question Number : 95 Question Id : 99836741338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 95 Question Id : 99836741338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M = # T v W B R e e

Options:
1.9 1)

Z0%
R I
4. %

Sub-Section Number: 2
Sub-Section 1d: 9983672130
Question Shuffling Allowed : Yes

Question Id : 99836741339 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 99836741340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TIATAAT o &G, Tl AT o Tgal W67 &1 &l ATvoaT of 17
Options:

1. % 15 f&drey 1950



= % 11 Toarew 1948
= ¥ 14 [grae 1949
4 ® 19 FEqrer 1949

Question Number : 97 Question Id : 99836741341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o< ATHT T AT T ST P -61 AT &F &0 H A-27 51 T8 417

Options:

1. & TR
2. % HE AT
3. % FErTET

4, % faereft amr

Question Number : 98 Question Id : 99836741342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot AT W el & aE-WaT T T T ATEH HIT AT 57

Options:

1. % graAT
2. ¥ "aE
3. % gaitad
4 % ghege

Question Number : 99 Question Id : 99836741343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
-t T o A T
Options:

1. ¢ f5ar

2 ® g

z % et

4, ® ==t

Question Number : 100 Question Id : 99836741344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TR FT S S T gy
Options:

1. % STORAT TET T W

2, o TIAMT-Tea! @ A

3. % arereft T % HEeT

4. % FHT AT FT AgAd

Question Id : 99836741339 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 96 Question Id : 99836741340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT AT & 1S Ficrel= T9T = Toa ! WINT &1 &el AT-ar o 17

Options:

1. % 15 Togrer 1950
2. % 11 Harr 1948
3 ¥ 14 TR 1949
4. % 10 Warr 1949

Question Number : 97 Question Id : 99836741341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Toal ATHT ST AT & ST T -1 AT &F &0 H A=aa7 o1 T8 17

Options:

1. % TFmET
2 % e
Z % e

4 % Tt amar

Question Number : 98 Question Id : 99836741342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Toa ! 99T T TRl & SIS H-Ng = @4 &1 5eT ATEAH =T AdT 27

Options:

1. % FHaR
2. ¥ g
3 ® o
4 % g

Question Number : 99 Question Id : 99836741343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FHI-HT 9T # |t er oy gy

Options:



1. 50
2. % g
3. % areft
4, % w2t

Question Number : 100 Question 1d : 99836741344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U TS & S S e gy
Options:

1. % STORAT TET T W

2, o TIAMT-Tea! @ A

3. % arereft T % HEeT

4. % FHT AT FT AgAd

Disciplinel
Group Number : 6
Group Id : 9983671316
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplinel
Section Id : 9983671715
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672131
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 99836741345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is MOT one of the reasons why perception is irmmportant for the developing child?



Options:

1. # Acquisition of knowledge

Z. % Memory

2. ¥ Rationalisation of child’'s views

4. % Hand-eye-coordination

Question Number : 101 Question Id : 99836741345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt o & Tt ereon Ageanul o/t &, 59T (aieiad # & &9 T U FH0 951 57
Options:

1. % F @7 aremgm

2. % T

3 ol o Tom @ T

4 # gEg-"F @F-ag

Question Number : 102 Question Id : 99836741346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is are projective technique(s) under methods of assessing personality?

I. Social-drama

II. Parent's views

III Zloud picture test
IV Blacky picture test

Options:

1. % [, 1l and III

2 %I I and IV
2. ¥ I and IV

4 % I, 111 and IV

Question Number : 102 Question Id : 99836741346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraiEET # & 1 A7) sihod @ STHA- F @ ST o eaTa wadt e o7

1. HIAA-STHT

1. AET-TuaT & e
111, FeATas Teaw aiigm
1. seeh! Toe= Tetamr

Options:

1. % I, 11 Il

= %11, 101 Fem Iy
=R I I A

4 % 111, 111 92 IV

Question Number : 103 Question Id : 99836741347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is NOT a type of question?

Options:



1. ® Consequences QUEesHons
2. % Provocative Questions
3. ¥ Sensitive Questions

4. % Divergent Questions

Question Number : 103 Question Id : 99836741347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT # & B AT W W UF U A5 27
Options:

1. % i wey

2. ® o ug

3. ¥ GogAafte ne

4 ® ST UER & 0

Question Number : 104 Question Id : 99836741348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following type of discipling is developed as a revolt against the authoritarian discipline which
many adults had been subjectad to during their childhood?

Options:

1. % Authoritarian discipline
= % Dermocratic discipline
2. ¥ Permissive discipline

4. % Motivational discipline

Question Number : 104 Question Id : 99836741348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TETmET # 9 O T & SrgaTas & ST STgaTad e 8 o] 1 3= e o S (ST T T & REATE g
JeUg W o (ol T teT forar T 87

Options:

1. % arfempTier srgamad
2 % FiwdiiEE SR
3. ¥ argAtd srgamEd

4 ® U mEA

Question Number : 105 Question Id : 99836741349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following isfare activities that can be used to foster creativity among children?

. Invention

II. Multiple uses
III. Alliteration
I3 Rote learning
Options:

1.9 1 11 and III

2. % I I and IV



3% [l and IV
4 % [ 11, Il and IV

Question Number : 105 Question 1d : 99836741349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TramET # & B | Ut ittt § e i 9t § EeeAwaT @ ae 1 o o ToT TR AT | 57

1. aiEmsT

1. TIEFTTErer T J9N
I1I.
IV,

Options:
1. 91, 11 g9l

2. % 11, I F9m IV
3. % 111 Jarlv
4 % [ 11, 111 Fem IV

Question Number : 106 Question Id : 99836741350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following Acts require the state to provide free and compulsory education to all children in the
age group of & - 14 years?

Options:

1. % Right of Children to Free and Compulsory Education Act, (RTE)
2 % Education Act

3. % Cormpulsory Education Act

4. % Right of Children to Free Education Act

Question Number : 106 Question Id : 99836741350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRTEET B & w0 AT SaaE, T R 6 - 14 o T ST W wdT wgl w gud Y sriar T v e @ T e adear g7
Options:

1. ot =7 g ofF arf-and T @7 et sttafa=m (RTE)

= % Tiwm et

3. % e TaeT srrarm

4 % gt o g T @7 arfder arferieey

Question Number : 107 Question Id : 99836741351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following has the goal of letting the children know what is right and what is disapproved and to
mctivate thern to behave in accordance with the studentsy?

Options:

1. ¥ Discipline
2. % Attitude
2. % Motivation

4. % Creativity



Question Number : 107 Question Id : 99836741351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & argama
2 % wierd

3. % g
4. ® wEETHE

Question Number : 108 Question Id : 99836741352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following words is/are used by application skills?

I Apply

II. Demonstrate
I11. Ilustrate
IV. Exarmine

Options:

1. % I, 11 and III

2 %I 1T and IV
2 % Il and IV

4 9111, 11 and IV

Question Number : 108 Question Id : 99836741352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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11, T=equr T

I11. IETEE0T 27
1. THergom a=T

Options:

1. % I, 11 qarlll
2. %11, 101 F9m Iy
SRR N IGE A

4 9111, 111 Jar IV

Question Number : 109 Question Id : 99836741353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Theroleof ______ 15 1o teach children to behawe i accordance to the expectations to their age.
Options:

1. % discipline

2. ® yalues

3. ¥ motivation

4. % critical thinking



Question Number : 109 Question Id : 99836741353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & arqama
2 % grat

Z. % SR
4, ® mEaEE

Question Number : 110 Question Id : 99836741354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is NOT a characteristic of personality?

Options:

1. ¥ Personality is product of heredity only

2. % Personality is self-consciousness

Z. % Personality is continually adjusting itself to environment

4. % Personality is always striving for certain ends

Question Number : 110 Question Id : 99836741354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 99836741355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ i5 the first school where children start their initial learning.

Options:

1. ¢ Family

2. % Society

Z. % Primary school
4, % Play school

Question Number : 111 Question Id : 99836741355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ TSl TeIerTerT 2 15T o] 10T W e SIfEH & id 8
Options:

1. ¢ gi@Ew

2 % |amE

3 & yrerifer e

4 % wf T



Question Number : 112 Question Id : 99836741356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to John Dewey, the ultimate objective of school and schooling process is to

[. faster the growth of social progress
II. expansion of democracy

Options:

1. % only I

2. % only 11

2. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 112 Question Id ;: 99836741356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % Faal

2. ® Faell
2. ¥ [ qarll =t
4, % ATErIATETII

Question Number : 113 Question Id : 99836741357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following factors indirectly influence the education process and overall developrment of society?

. Historicity of society
II. Geographical contesxt
III. Mature of state

Options:

1. ® land Il

2. % [l andIII
2 % JandIIl
4 ¥ 1 11 and III

Question Number : 113 Question Id : 99836741357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 13991l
2. % 11 Ferlll



2% [ Uil
4 1 11 Farlll

Question Number : 114 Question 1d : 99836741358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT a correct pair of skill category - skill?

Options:

1. * Social - Self awareness

2. ¥ Thinking - Empathy

2. # Thinking - Problem solving

4. ® Ernotional - Coping with stress

Question Number : 114 Question Id : 99836741358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question 1d : 99836741359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For classes first to fifth, if there are between 61 to 90 students adrnitted in a class, then how many teachers
are required according to Right to Education Act, 20097

Options:
1.% 2
2 ¥ 3
3 % 4
4 % g

Question Number : 115 Question Id : 99836741359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
1. %2
2. ¥ 3
3% 4
4 %5

Question Number : 116 Question Id : 99836741360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which articles of Indian Constitution constitute right to equality?



Options:

1. % Article 1210 16
= ¥ ATtICle 1410 18
3% Article 1010 14
4. % Article 1210 22

Question Number : 116 Question Id : 99836741360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % argg 12916
2 ¥ afEdg 14 |13
3 % ardg 10#14
4 % arEdg 1B HEZ

Question Number : 117 Question Id : 99836741361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following pair is correctly matched?

I. Learning - Crganism actually does
II. Performance - Organisms is capable of doing

Options:

1. % cnly 1

o ® Cnly I

2. % BothlandlIl
4 % MNeither I nor [1

Question Number : 117 Question 1d : 99836741361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Saal
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Question Number : 118 Question Id ;: 99836741362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following has been used as a means of evolving bureaucratic, centralized governance of
education by Britishers?

I. Text books
II. Written examinations

Options:



1. % Only 1

2 % Only 11

2. % Both [ and Il
4. % MNeither I nor II

Question Number : 118 Question Id : 99836741362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aal

2. % Fadll
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4. % FTErIATRIII

Question Number : 119 Question Id : 99836741363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ refers the rules, procedures and norms of production, distribution, consumgption as well as working
systern and patterns.

Options:

1. % Econormic institutions
2. % Political institutions
= % Social institutions

4, % Religious institutions

Question Number : 119 Question Id : 99836741363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. arridier qear

2 % T e

3. ® g HET
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Question Number : 120 Question Id : 99836741364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is the highest function of education?

Options:

1. ¥ To create integrated individual who is capable of dealing with life as a whole.
2. % Tocreate a specialist individual who is concerned with only his field.

% % To create an individual who conforms to a system

4 % Tocreate an individual who is a efficient technician.



Question Number : 120 Question Id : 99836741364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Discipline?
Group Number : 7
Group Id: 9983671317
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplinez
Section Id : 9983671716
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 9983672132
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 99836741365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not true about right kind of educator?

Options:

1. % Must free himself from books and laboratories

2. % Must not let student makes him their ideal

Z. % Must not let students be engulfed in their own self enclosing pursuit

4 % Must look the success of his students as owrl SuCCess



Question Number : 121 Question Id : 99836741365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 99836741366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following type of school environment will not make education more effective and will not be
conducive to learning?

Options:

1. ¥ The light and ventilation in the classroom is not adequate

2. % The teaching-learning materials are properly stored and are available in plenty to children
3. % The teacher is friendly and understanding

4. % The classroom are spacious with adequate space for free movernent

Question Number : 122 Question Id : 99836741366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id ;: 99836741367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Bandura, which of the following processes are involved in Observational learning”?

[ AtEerition process

II. Ketenticon process

I1I. Motivational process

I%. Motor reproduction process

Options:

1. % 1 11 and III

o % 1111 and IV
. % I and IV

4 &1 11 1l and IV

Question Number : 123 Question Id ;: 99836741367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 124 Question 1d : 99836741368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For group discussions, a teacher needs to provide pupils with training and support. Which technique she
should adopt to achiewe this?

I. She needs to provide the kind of collaborative activities that promote active involverment of all pupils.
II. She needs to model the way she wants pupils to interact with each other.

Options:

1. % Cnly I

2. % only II

2 ¥ BothlandII
4. % DMNeither [ nor I1

Question Number : 124 Question Id : 99836741368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FFaal

o % Fadll

3. ¥ ] qETll 3t
4. % FTErIATEII

Question Number : 125 Question Id : 99836741369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what a child perceives is largely a function of his

I. previous experiences
II. ASsurmptions
III. purposes

Options:

1. % Only ]

2. % [landIIl
2% [ 11 and III



4, % only III

Question Number : 125 Question Id : 99836741369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aal

2. % 11 FETII
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Question Number : 126 Question Id : 99836741370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the relevance of Behaviour modification approach in classroom teaching?

[. Repetition without reinforcement does not enhance learning
II. Punishment is not very effective for eliminating undesirable behaviour

Options:

1. % Only ]

2. % Only 11

3. % Both [ and 11

4. % Meither I nor II

Question Number : 126 Question Id : 99836741370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question 1d : 99836741371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following isare characteristics of a teacher-centered approach of teaching?

[. Teacher Cconcentrates on right answer

II. Teacher is mostly concerned with the completion of the course cortent
III. The focus is on learning than teaching

Options:

1. % Tandll



2. % Ilandlll
3 % landIll
4 % [ 1l and III

Question Number : 127 Question Id : 99836741371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 1 aarll

2. % [ Tarlll
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4. % [ 11 g9rlll

Question Number : 128 Question Id : 99836741372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which activities are encouraged by a teacher in constructivist classroor?

[. Experimentation
II. Project wiork

III. Field trips

IV, ¥isuals

Y. Class discussion

Options:

1% LIl and WV
2. % I I IV and W
2% LILIVand W

4 % I 1L, IV and ¥

Question Number : 128 Question Id : 99836741372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 129 Question Id : 99836741373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
In Demonstration method of teaching, during demonstration, a student gets opportunities for

[. Observation
II. Note making
III. Cmestioning
I3, Drawing

Options:

1. % 1, 1IandIII

Z %111 and IV
3% Il and IV

4 %111, 11 and IV

Question Number : 129 Question Id : 99836741373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 130 Question Id : 99836741374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ method of teaching is also known as ‘Inquiry method’.

Options:

1. ¥ Discovery method

2. % Lecture method

2. % Inductive and Deductive method

4. # Problern solving method

Question Number : 130 Question Id : 99836741374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 131 Question Id : 99836741375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

According to Kolb's rodel, in which learning style, students choose to work in groups, to listen with an open
mind and to receive personal feedback?

Options:

1. ¥ Diverging
2. % Assimilating
2. % Converging

4. % Accormodating

Question Number : 131 Question Id : 99836741375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 99836741376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 learning centred approach to learning, according to Weirmer the corntent facilitates students to

I. build an appreciation for value of content
II. practice using inquiry or ways of thinking in the discipline
III. develop a way to learn through content and make meaning out of content

Options:

1. ® land Il

2. % [l andIII
2 % JandIIl

4. % 1,11 and III

Question Number : 132 Question Id : 99836741376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4. % 1 11 g9l

Question Number : 133 Question Id : 99836741377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In Cooperative learning method, for student achievermnent to improve considerably, which characteristics
should be present in every group?

[. Success is not reliant on each individual's learning
II. Students are looking towards a group goal or recognition

Options:

1. % Cnly I

2. ¥ COnly 11

2 % BothlandII
4. % DMNeither [ nor I1

Question Number : 133 Question Id : 99836741377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aal

2 ¥ Fadll

3. % [ Farll 3Ft
4, % ATErIATEIII

Question Number : 134 Question Id : 99836741378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is/are the benefits of Collaborative learning?

I. Students learn to work with diverse types of people
II. Students learn to relate to their peers and other learners as they work together in group enterprises

III. Students take rmore owrership of their material and think critically about related issues when they work as
a tearn

Options:

1. ® land Il

2. % [landIII
2 % JandIIl
4 % [ II and III

Question Number : 134 Question Id : 99836741378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4. 1, 11 q9r1Il

Question Number : 135 Question Id : 99836741379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ is considered as appropriate for creating social atrmosphere in the classroorm where the children are
facilitated to have enough scope to interact with each other.

Options:

1. % Smgall Group Learning Strategy

2. % Medium Group Learning Strategy

3. ® Large Group Learning Strategy

4. % Very Large Group Learning Strategy

Question Number : 135 Question 1d : 99836741379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 99836741380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the fOllO‘.ﬁ.i"iﬂg 15 NOT an Audio aid used by a teacher in Cclassroory

Options:

1. * Radio broadcasts
= ¥ Models

3. ® CD player

4 #* Cassette

Question Number : 136 Question Id : 99836741380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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3 % g e

4 ® FAT

Question Number : 137 Question Id : 99836741381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What are the roles of speakers of a language?

I. They help the linguists in preparing gramrmar and dictionaries
II. They tend to form the basis of a language by practicing and propagating it
III. They only focus on speaking and not on writing

Options:

1. * landIII
2. % [landIIl
2 ¥ landll

4 % [ 1l and III

Question Number : 137 Question Id : 99836741381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 13971l

2. % 1l qgrlll
2V Ferll
4. % [ 11 9rlll

Question Number : 138 Question Id : 99836741382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The language found in literature is different from the ordinary usage of the language. How can we
differentiate between the two?

[. By studying the forms of language used in literature
II. By analyzing the word formation and sentence structure in literature
ITIT. By studying the synonyrs and sirile used in literature and the language used ordinarily

Options:

1. % TandIl

2. % JandIIl
2 %1 11 and III

4 % Il and 111

Question Number : 138 Question Id : 99836741382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 1 39TIl

2. % [ F9rlll




I % 11 gemlll
4 ® 11 FaTIll

Question Number : 139 Question Id : 99836741383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staternents is true?

Options:

1. # English is the naticnal language of India

2. % All the Indian states are bound to adopt “Hindi* as their state language

3. ¥ According to Official Language Act, English is the permanent “associate official language” of India

4. % To protect multilingualism, Indian constitution adopted English as the official language of India

Question Number : 139 Question Id : 99836741383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 140 Question 1d : 99836741384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& niurnber is written in the form of p/q where p and q have 1 as the only cormmon factor with g > 0. This
nurnber is said to be the standard form of which of the following?

[. Irraticmal nurmber
II. Fational narmnber

Options:

1. % Only1

2. ¥ Only 11

% % Bothland Il
4. % Neither I nor II

Question Number : 140 Question Id ;: 99836741384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Discipline=

Group Number : 8
Group Id : 9983671318
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 9983671717
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672133
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 99836741385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ is the product of lowest powers of each of the prime factors that commonly occurs in both the nurmber.

I. Highest cormmon factor
II. Least corrrmnorn rrltiple

Options:

1.9 Cnly [

2. % Only 11

3 % BothlandlIl

4. % MNeither I nor II

Question Number : 141 Question Id : 99836741385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. Sad ]

2 ® FaAll

3. % [ Farll 3Ft
4, % ATErIATEIII

Question Number : 142 Question Id : 99836741386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A+D+c=a+ib+cC=a+b+cThe given expression represents which property of addition in natural and
wiole nurrber?

Options:

1. % Corrurtative property
2. ® Closure property

2. ¥ Associative property

4 % additive identity in whole nurmibers

Question Number : 142 Question Id : 99836741386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

E+b)+c=a+b+C)=a+b+ ¢ TR e ugidw qur gt fEarst #§ T & T 10T w gatar gy
Options:

1. % & o

2. % Hggdar wT I

. ¥ T

4, % oo szt f A= doaHE

Question Number : 143 Question Id : 99836741387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following digit will have the same place value at any place of a number?

Options:
1. %1
> ® 2
2.¥0
4 % 3

Question Number : 143 Question 1d : 99836741387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.%1
2 %2
390
4 % 3

Question Number : 144 Question Id ;: 99836741388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
which of the following is the initial step/stage of experiential learning cycle?

Options:

1. % Publishing
2. ® Processing
3. % Generalizing

4. % Experiencing

Question Number : 144 Question Id : 99836741388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % m&1ee

= ® AT

3. % g

4. SITHE FEAT

Question Number : 145 Question Id : 99836741389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
+rand-rare ______ inverse of each other.
Options:

1. # Subtractive

2. % Multiplicative

3. ¥ Additive

4. % Divisible

Question Number : 145 Question 1d : 99836741389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ FcHE
2. % T

3. ¥ T
4. % T

Question Number : 146 Question Id : 99836741390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is/are the geometric figures with the line of syrmetry?

. Fectangle
I1. Isosceles triangle

Options:

1. % Only I

Z % Only Il

3. % Both [ and 11



4. % Neither [ nor I1

Question Number : 146 Question Id : 99836741390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. % Sael
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Question Number : 147 Question Id : 99836741391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the discussion, division in the natural nurmbers is the reverse process of

[ Addition
II. multiplication

Options:

1. % Cnly I

= ¥ COnly 11

3. % Bothlandll

4 % MNeither I nor 11

Question Number : 147 Question 1d : 99836741391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % dadl

2 & Faell
3. % [ Furll =+t
4 % QI ATEIII

Question Number : 148 Question Id : 99836741392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The nurrbers that are found to have been constructed to measure different parts of a complete object are
known as ______.
Options:

1. # Imaginary number
2. % Irrational numbers

3. % MNatural numbers



4. Fractional nurnbers

Question Number : 148 Question Id : 99836741392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2 % amior g

% % grplde g
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Question Number : 149 Question Id : 99836741393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following numeral systern, one is indicated by a dot and five is indicated by a bar.

I. Roman systern
II. Babylonian systern
III. Mavarn system

Options:

1. % Only I

2. % Only 11

3. ¥ Only 111

4 % [ IIandIII

Question Number : 149 Question Id : 99836741393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 150 Question Id : 99836741394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose ‘MNo error’.

Tirme hawe destroyed (1)) all his works (2] as well a5 his statue (3] Mo error (4)
Options:

1. % Time have destroved

2. % all his works

3. % as well a5 his statue



4. % No error

Question Number : 150 Question Id : 99836741394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Time hawe destroved (1)) all his works (2)) as well as his statue (3)) o error (4)
Options:

1. ¥ Time have destroved

= % all his works

3. % as well s his statue

4. % Noerror

Question Number : 151 Question Id : 99836741395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Authentic
Options:

1. ¥ falze
2. ® power
2. % expand

4 * reyive

Question Number : 151 Question Id : 99836741395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Authentic
Options:

1. ¥ false
2. % power
3. % expand

4. % revive

Question Number : 152 Question Id : 99836741396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Eright
Options:

1. % wivid
= % dull
3. % collect

4. #® eazy



Question Number : 152 Question Id : 99836741396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Eright
Options:

1. % wivid
= 9 dull
3. % collect

4 % easy

Question Number : 153 Question Id : 99836741397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the givenn word.

Arxions
Options:

1. # dauntless
2. ¥ scared

2. % confined

4 % tender

Question Number : 153 Question Id : 99836741397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

ATIHIONS
Options:

1. * dauntless
z ¥ scared

3. % confined

4. % tender

Question Number : 154 Question Id : 99836741398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

ATl examination of a dead body
Options:

1. ¥ autopsy

2. % oligarchy

2. % despotism

4 * fiancee

Question Number : 154 Question 1d : 99836741398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Zhoose the word that can substitute the given senternce.

An examination of a dead body
Options:

1. ¥ autopsy

2. % oligarchy

3. % despotism

4 % fiances

Question Number : 155 Question Id : 99836741399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom {Phrase.

Showr up

Options:

1. ® represent

= ¥ appear

2. # begin to lose
4. % gather in

Question Number : 155 Question Id : 99836741399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom /Phrase.

Showr up

Options:

1. % represent

= ¥ appear

2. % begin to lose

4. # gather in

Question Number : 156 Question Id : 99836741400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Apple—e order

Options:

1. ¥ to suddenly understand a problerm
= % to protest strongly

2. ¥ perfectly neat and tidy

4. % 3s it seems to be from the facts

Question Number : 156 Question Id : 99836741400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Apple—pie order

Options:

1. * to suddenly understand a problerm
2. ® {0 protest strongly

2. ¥ perfectly neat and tidy

4. % asit seerms to be from the facts

Question Number : 157 Question Id : 99836741401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

Vou o ___ not show disrespect to vour elders.
Options:

1. % rnight

2. % may

2. % shall

4 % st

Question Number : 157 Question Id : 99836741401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

You ot show disrespect to your elders.
Options:

1. % rnight

2. % may

=2 % shall

4 % must

Question Number : 158 Question 1d : 99836741402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The concept of ______ was very important for Kohlberg because it enabled him to explain the direction of his
Stage Sequence.

Options:

1. ® structured wholes

= % hierarchic integration

3. % cross-cultural university

4. % invariant sequence

Question Number : 158 Question Id : 99836741402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. % #xie qof

2. & UETIeHT TR

3. ® gla-aiegids eraioeme
4 ® amiad-ra aged

Question Number : 159 Question Id : 99836741403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In programmed instruction of ______
physical activities more natural.

, materials are largely physical. She thought yourng children find such

Options:
1. % Maria Montessori

2. % EF Skinner
2. % CZarol Gilligan
4. % George Polva

Question Number : 159 Question Id : 99836741403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. g aieatn
= R & ow e
3. ® S0 e
4 % ST gfEr

Question Number : 160 Question Id : 99836741404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S00ra] gave two staternent about him i.e T am good at algebra” and "1 ama poor swirrnrer” Bandura consider
such judgements made by So0raj as

[ self-efficacy appraisals
II. self-evaluative standards

Options:

1. ¥ Cnly

2. % Only 11

= % BothlandIl
4. % NMNeither [ nor I1

Question Number : 160 Question Id : 99836741404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1.9 ]
2 % Fadll
3 % 1 qerll 3Ef
4. % FUEr] ATEIII

Disciplined
Group Number : 9
Group Id: 9983671319
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline4
Section Id : 9983671718
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672134
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 99836741405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to whorn, our ancestors becarme capable of tool use when they came down from the trees and began
livirig on level ground?

Options:

1. ® George Polya

2. % N.]. Fine

2. % Friedrich Engels
4. % John B Watson

Question Number : 161 Question Id : 99836741405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Teperey S|, FHIC Yot U2t & il a1 T2 S i 0% ¥5- & JUe JuaiT § 950 gu?
Options:
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Question Number : 162 Question Id : 99836741406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT a theme included in the EVS svllabus for class I to W7

Options:

1. ¥ Wwealth
= % Shelter
3. % Trawvel
4. % Water

Question Number : 162 Question Id : 99836741406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 ¥ o
2 ® dwex
3. % IEr
4. % o

Question Number : 163 Question Id : 99836741407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following methods of teaching learning of EVS encourages children to explore their environments
and encourages therm to use, think and establish connections?

Options:

1. % Observation Method

Z % Project Method

3. % Creative Expression Method

4. % Group Discussion Method

Question Number : 163 Question Id : 99836741407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 164 Question Id : 99836741408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following activities can enharnce cooperative learning in an EVS class?

Options:
1. % Asking the students to read from their textbaoks

2. ¥ Asking the students to think of the recent travel that the students have undertaken and to discuss it with
other students in the class

3 Asking the students to collect different kinds of leaves and paste them in their notebooks

4. % asking the students to individually visit a post office with their parents and observe the work that is
happening there

Question Number : 164 Question Id : 99836741408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 99836741409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following principles is/are adopted by the special session on children of the United MNations
General Assernbly in May 20027

[. Educate every child

II. Mourishment for all children
III. Protect children from war
IV, Leave no child out

Options:

1. % [ I and III

2 % 11 and IV
= ¥ 1 and IV

4 ¥ [ 101 and IV

Question Number : 165 Question Id : 99836741409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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3.9 I qurIv
4. % [ 11, 111 IV

Question Number : 166 Question Id : 99836741410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT a technology resource in teaching - learning for EWVS?

Options:

1. ¥ Television
2. % Computers
3. ® Camera

4. % Mobile phones

Question Number : 166 Question Id : 99836741410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ Seiifdee

2 % FeT

3 %

4. ¥ OlEaEa BE

Question Number : 167 Question Id : 99836741411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Speech bubbles can be useful for

I. simple dialogues
II. setting the scene

Options:

1. % Cnly I

2 % COnly 11

3. ¥ Both 1 and II

4 % MNeither I nor 11

Question Number : 167 Question Id : 99836741411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 168 Question Id : 99836741412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not a means of our teaching?

Options:

1. % Words are encugh

2. % Play with the language
=. ® Variety in the classroom

4 # Routines

Question Number : 168 Question Id : 99836741412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ g FTHTE

2. % ITT & G GAAT

3. % wyr d Oigar

4. ® Tt

Question Number : 169 Question Id : 99836741413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not correct about ‘stories’?

Options:

1. ¥ Storybooks allow the teacher to use an acquisition-based methodology
2. % Listening to stories help children become aware of rhythm, intonation ete
3. ¥ Storybooks makes learning least meaning ful for each child

4. % storybooks add variety and provide a springboard for creating complete units of work

Question Number : 169 Question Id : 99836741413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 99836741414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the third level in story-based methodology other than plan and do?

Options:
1. ® Read

2 ¥ Review
3. # Rewrite
4 % Regssure



Question Number : 170 Question Id : 99836741414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ugar

2. |ty T
3. % geeEd

4 % U AT AT

Question Number : 171 Question Id : 99836741415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat could be reason to ask questions from listeniers in story-based lessons?

[. To focus pupil’s attention.
II. To make them feel bad in case they have no knowledge about the topic.

Options:

1.9 Cnly [

z. % COnly 11

2. % BothlandII
4. % DMNeither [ nor I1

Question Number : 171 Question Id : 99836741415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 ]

2 % Fadll

3 % 1 qerll 3Ef

4. % FUEr] ATEIII

Question Number : 172 Question 1d : 99836741416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does Ericourage pupils o build ap their owr word sets as an alternative to a picture dictionary” called?

Options:

1. * Picture dictionaries
2. ¥ Word farmilies

2. % YVocabulary

4. % Collages

Question Number : 172 Question Id ;: 99836741416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4. % FAT

Question Number : 173 Question Id : 99836741417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following speaking activities is used for free comrnunication?

. Look, listenn and repeat
II. Dramatisation

Options:

1. % Only I

z. % COnly 11

2. ¥ Both [ and 11
4. % DMNeither [ nor I1

Question Number : 173 Question Id : 99836741417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 174 Question Id : 99836741418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What Comes under “writing at sentence level” writing activity?

[. Captions for pictures
II. Menus/shopping lists

Options:

1. ¥ Cnly

2. % Only 11

= % BothlandIl
4. % NMNeither [ nor I1

Question Number : 174 Question 1d : 99836741418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id ;: 99836741419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fupils can be taught to ask themsealves questions about their learning in order to reflect on the content and
process is called

Options:
1. % gelf assessrment

= % comparing
2. ¥ self questioning
4. % hypothesising

Question Number : 175 Question Id : 99836741419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2. % g weAr

3. ¥ Uy
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Question Number : 176 Question 1d : 99836741420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a part of Interactive Role?

Options:

1. ¥ To encourage active reflection to develop greater understanding and self-awareness
= % Tovalue diversity

3. % To provide opportunities for self direction and choice

4. % Tocreate an atmosphere of rmutual trust and respect

Question Number : 176 Question Id : 99836741420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question 1d : 99836741421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is included in stage 1 of productive computer session?

I. Contextualize worlk
II. Explain the purpose of the task

Options:

1. % Only1

2 % Only 1

= ¥ Both 1and II
4. % Neither I nor II

Question Number : 177 Question Id : 99836741421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
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Question Number : 178 Question Id : 99836741422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the aim of teaching English?

Options:

1. ® Az it does not stand alone

2. ¥ Creation of multilingualism which can enrich all our languages
3. % Since it must be seen in relation to other subjects

4. ¥ Az itis spoken in America

Question Number : 178 Question Id : 99836741422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 99836741423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What do you mean by ‘establish ground rules™

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. To ensure that children respect the hardware and software

2. To ensure that chuldren work: together on a computer and tell therm that they take turns

2. To make sure that you are familiar with the website

4. Asking children to complete a gap-fill

Question Number : 179 Question Id : 99836741423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:
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Question Number : 180 Question Id : 99836741424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does developrernt of Imetacognitive awareness includes?

[. Mature of the learning task.
II. Knowing about oneself as a learner

Options:

1. % Only I

=z ¥ COnly 11

3 % BothlandlIl

4. % MNeither I nor II

Question Number : 180 Question Id : 99836741424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Disciplines

Group Number : 10
Group Id : 9983671320
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 9983671719
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 9983672135
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 99836741425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the folln:nwing techniques can be used to introduce new vocabulary?

[. Translating
II. Eliciting

Options:

1. % Only I

2. % Only 11

3. ¥ Both [ and 11

4. % MNeither I nor II

Question Number : 181 Question Id : 99836741425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 99836741426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is the MOST appropriate critical question a teacher can ask while teaching the topic of
‘People and Environment’?

Options:

1. % Define environment.

2. % How will the earth be if there are no forests at all?
3. ® Wwhat are the features of environment?

4. % Are people affected by their environment?

Question Number : 182 Question 1d : 99836741426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 183 Question Id : 99836741427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following source fsources is/are included in Archaeological sources of history™?

. Pottery

II. Inscriptions on roclks
III. Terracotta figures
I%. Religious Literaturea
Options:

1% [ Iland IV

2. ¥ 1,11 and III
3% 1L I and IV
4. % [, 1l and IV

Question Number : 183 Question Id : 99836741427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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2. ¥ 1, 11 q9rlll
3% 11 IO g9 IV
4 % [ III qarIv

Question Number : 184 Question Id : 99836741428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the folln:nwing Staternent(s) is/are correct regarding nature of social science?

[. Social science are adwvance level studies of human society.

II. Social Science contribute to the social utility and advancement of knowledge.

III. Social Sciences are those aspects of knowledge which have direct bearing on man’s activities in different
socio-Cultural fields.

Options:

1. ® Bothland II
2. % Only I

2 % Both I and III
4 ¥ 1 11 and III

Question Number : 184 Question Id : 99836741428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 99836741429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following approaches adopted by social scientist in understanding political science focuses on
formal apparatus of politics - governmernit, institutions, constitutions and states?

Options:

1. * Behavioural Approach

2. ¥ Legal - institutional Approach
=, % Philosophical Approach

4. ® Psychological Approach

Question Number : 185 Question Id : 99836741429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 186 Question Id : 99836741430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are feature(s) of a learner centered social science class?

[. Creating space for exploration into social issues.
II. Respect for multiple wiews.
III. Use of multilinguism.

Options:

1. % Only 11

2. % Only I

2. % BothlandII
4. % 1,11 and III

Question Number : 186 Question Id : 99836741430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Faall

2 % Fadl
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Question Number : 187 Question Id : 99836741431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cost price of a pen is Rs 4. If pen is sold at a profit of 150%, then what will be the selling price of pen?

Options:

1. * Rs1Z
2 % Rs8
3. ¥ Rz 10

4 ® Hs@

Question Number : 187 Question Id : 99836741431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 99836741432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AFFG and ASTU are similar to each other. If (EF/ST) = (7/6) and area of ASTU is 144 c¢m?, then what
will be the area of AEFG?

Options:

L 196 cm*

154 cm?

~

212 cm?

188 cm?

Question Number : 188 Question Id : 99836741432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AEFG d9T ASTUUS W & WHET §| I (EF/ST) =(7/6) TUT ASTU &I &19%er 144 QA2 &, &

AEFG T 819%hol 4T grem?

Options:

196 T.HT2

1 W

154 A2

2 %

212 A2

188 J.AT2

Question Number : 189 Question Id : 99836741433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterment(s) is/are correct?

I. Product of two positive numbers = Sum of their highest comumon factor and least cormmorn multiple
II. Product of two positive numbers = Product of their highest cornmon factor and least cormmon rmultiple



Options:

1. % Only 1

2. ¥ Only 11

% % BothIandII
4. % Neither I nor I

Question Number : 189 Question Id : 99836741433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % e ]
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Question Number : 190 Question Id : 99836741434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following staternent is correct about RHS congruence of triangles?

Options:

1. # If three sides of one triangle are congruent to the corresponding sides of the other triangle, then two
triangles are Ccorngruent

2. % If two angles of one triangle are congruent to the corresponding angles of the other triangle and the sides
included betweern therr are congruent, then two triangles are congruent

2. % If two sides of one triangle are congruent to the corresponding sides of other triangle and the angles
inclhude betweeen therm are congruent, then two triangle are congruent

4. ¥ If the hypotenuse and one side of one triangle are respectively congruent to the hypotenuse and the
corresponding side of the other triangle, then two right angled triangles are Congruent

Question Number : 190 Question Id : 99836741434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 99836741435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following statement(s) is/are not correct?

[. Mean = Sum of observations/Number of observations
: I : ;
II. Median = Value of ?(n — l)th observation wheren 1s even

[1I. Mode is that observation which occurs most frequently in the distribution.

Options:

1. ® Il and III
2 % Only 1

3 ¥ Only 11

4. % 1 1l and III

Question Number : 191 Question Id : 99836741435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 192 Question Id ;: 99836741436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Guba and Lincoln (1981) suggest that the evaluation generates five kinds of information. Which of the
following is that kind of information?

. Information about values
II. Inforrmation about standard to merits
III. Inforrmation about relevart issues

Options:

1. ® Il and III
2. % landll

3. % [ andIII

4 %1 11 andIIl



Question Number : 192 Question Id : 99836741436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % I J9rlll
2. % 1 agrll
3% [ g9l
4 % 1 11 qarlll

Question Number : 193 Question Id : 99836741437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich of the following science teaching rmethod is most suitable for small children who cannot discover truths
for themselveas?

[. Deductive reference
II. Inductive reference

Options:

1.9 Only I

2. % Only 11

2. % BothlandII
4. % DMNeither [ nor I1

Question Number : 193 Question Id : 99836741437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 Faal

2. % Faell
3. % [ garll ==t
4 % JTETIATEII
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following staterment regarding discovery approach to teaching science is/are Correct?

[. Sorme cues in the form of learning material are presented by the teacher to the students.
II. The students using inductive thinking are expected to discover the concept or rule.

Options:

1. % Only I

2. % Only 11

3 ¥ Bothland Il



4. % Meither I nor I1
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are the advantages of using discovery approach to teaching science in the Classroornn?

[. Students enjoy learning because they themselves discover knowledge.
II. There is constant interaction between content, teacher and the students resulting into developrmernt of
information processing abilities of the students.

Options:

1. % Cnly I

2. % Only 11

= ¥ EBothlandIl
4. % NMNeither [ nor I1
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statements regarding unit plan in teaching learning process is correct?

I. It i5 an outline of the program of action after deterrmining the subunits
II. It is a detailed plan which consists of intended learning outcomes, teaching - learning strategies and
activities and assessment tools for learning outcome

Options:
1. % Cnly I



2. % only II
3. % Both [ and II
4. % Meither I nor I1
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1. % FFaal

o % Fadll
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Correct Marks: 1 Wrong Marks: 0.25
1 which of the following points should a teacher rigorously focus on while planning a lesson?

I. Framing the learning objective
II. Selecting the teaching - learning strategy
I1I. Selecting teaching learning activities and learning experiences

Options:

1. ® landll

2. % [landIIl
2. % JandIIl
4 % 1 II and III
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Correct Marks: 1 Wrong Marks: 0.25
is knowledge of classification, principles, models or structures pertinent to a particular disciplinary area.

Options:



1. ® Factual knowledge

= ¥ Conceptual knowledge
2. #* Procedural knowledge

4. % Metacognitive knowledge
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Correct Marks: 1 WrongMarks: 0.25
which of the following is true about inclusive education?

[. Changing the existing enwvirornmnernt
II. Differentiated teaching methods being used

Options:

1. % only 1

2 ® only I

3. ¥ Both I and 11
4. % Neither I nor II
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Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the fOllOW‘iI‘lg 15 true about collaborative assessrent?

[. Focuses on abilities, strengths and neads
II. Focus only on assessment approach

Options:
1.9 Cnly I



2 ® only I
2 % Both [ and 11
4 % Neither I ror 11
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